ARTARHRERAERR BESTE

Az H WEBF | wEEE | xe AR Sv/t)
50cm 1m
HM6FAR2A(N) |REDTEHES 8:30 B 0.084 0.101
QM6FEARIAN) |REDTEHES 8:30 53] 0.132 0.101
DF6E4A16ACK) |BREDTEEHEL 8:30 53] 0.106 0.092
[MEF4A23B(N) |RENITEEHES 8:30 55 0.111 0.081
DF6E4A30ACK) |REDTEEHEY 8:30 5] 0.092 0.112
Q[MOESATAN) |REDTEHES 8:30 53] 0.095 0.121
DF6ESA14ACK) |REDTEEEL 8:30 i 0.095 0.102
[MEFESA21BN) | RENITEEHES 8:30 i 0.091 0.098
DH6ESH28ACK) |REDTEEHEY 8:30 5] 0.108 0.094
QM6E6R4AN) |REDTEHES 8:30 i 0.099 0.105
DF6ECA1TACK) |BREDTEEHEL 8:30 i 0.095 0.092
[MEFECA18ECN) |RENITEEHES 8:30 55} 0.104 0.103
SHME6E6A268(K) |RENTEEEE 8:30 E 0.099 0.102
QM6ETA28(N) |REDTEHES 8:30 £ 0.099 0.102
SMEFETAIACK) |RESTEEES 8:30 -3 0.101 0.100
SMEETA16BCK) |BENTEEES 8:30 = 0.084 0.105
DF6ETA23ACK) |REDTEEHEY 8:30 i 0.100 0.096
DF6ETA0BCK) |REDTEEHEL 8:30 £ 0.096 0.075
SHMEFESA6ACK) |RENTEEHES 8:30 -3 0.092 0.097
[MEEBAIIBEHCN) |HRENITEEHES 8:30 i 0.080 0.098
DF6E8H20A(K) |REDTEEEY 8:30 i 0.080 0.098
DF6EBA27ACK) |REDTEEHEL 8:30 53] 0.109 0.104
SHMEFIASACK) |RESTEEHES 8:30 -3 0.104 0.087
SMEFEIA10B(K) |BENTEEES 8:30 = 0.109 0.076
SHEEIR1TACK) |BRENTEEES 8:30 E 0.097 0.083
DF6EIA248(CK) |REDTEEHEL 8:30 i 0.096 0.111
DF6EI0A1ACK) |BREDTEEES 8:30 i 0.099 0.092
[MEFEI0ASHCN) |HRENITEEHES 8:30 55 0.086 0.123
SHEEI0F15ACN) |BRESFEEER 8:30 E 0.095 0.096
DF6EI0A22B(N) (RENDTEEES 8:30 i 0.091 0.111
SMEFE10A29A0CK) (REHD TEEEE 8:30 -3 0.097 0.108
SHM6EITASACK) |BEATEEHES 8:30 = 0.097 0.101
RF6ENA 12BN (BRENTEEES 8:30 i 0.105 0.105
RF6ENA19BCN) (RENDTEEES 8:30 i 0.099 0.105
SMEFE11A26B0K) |REDTEEEL 8:30 -3 0.094 0.120
[MEFE12AEN) |RENITEEHES 8:30 i 0.103 0.088
RF6FE12A10H(N) (RENDTEEES 8:30 i 0.100 0.100
DF6E12R17TEHCN) |RENDTEEES 8:30 £ 0.091 0.078
SMeFE12H24A0K) |RED TEEEE 8:30 -3 0.092 0.075
SMIFEIATACK) |RESTEEHES 8:30 55 0.100 0.089
SHTEIR14BCRN) |BRESFEEES 8:30 E 0.097 0.098
D[FTEIA21BCR) | REDTEEHES 8:30 i 0.090 0.110
DF7E1A28ACK) |BREDTEEHES 8:30 i 0.090 0.086
SMTE2R48CK) | RESITEEHES 8:30 ES 0.115 0.126
DR7E2H1280K) |RED TEEES 8:30 B 0.073 0.096
DF7E2A18ACK) |REDTEEHES 8:30 g 0.096 0.087
SMTE2A2580K) |RESTEEHES 8:30 -3 0.088 0.071
SHMTEI[4ACK) | BESTEEES 8:30 = 0.094 0.088
D[F7EIANIACK) |REDTEHES 8:30 5] 0.110 0.104
D[FTEIA1BACK) |REDTEEHES 8:30 i 0.092 0.112
DF7E3IA2ACK) |BREDTEEHEL 8:30 i 0.092 0.091
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